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4. oL AL A

O (x—y-2)2=x%-y?—22 —2xy + 2y7 — 22x

@ (3x-2y)% = 27x3 — 54x%y + 18xy? — 8y3

® (x+y)(x =) +xy —y*)(x* —xy +y?) = 27 —)°
@D)(x2 —2xy + 2y) (2% + 2xy + 2y?) = x* + 4y*

® (x+y-DE2+y*—xy+2x+2y+1) =2 +y> - 3xy -1
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@ x-y-2?=x>4+y>+22-2xy+2yz - 22x
@ (3x —2y)? = 27x® — 54x?y + 36xy? — 8y3
@ (x+y)(x =) (¥ + 1y +y*) (x? = xy +?)
— xS
O @x+y-1)(x+y*-xy+x+y+1)
=x3+y3-3xy—-1
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o gre Fohu?
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X tx—1
=(x-a)(x-b)(x-c)
=x3 = (a+ b+ c)x® + (ab + bc + ca)x — abc
a+b+c=0, ab+bc+ca=1, abc =1
a® + b3 + ¢3 — 3abc
= (a+b+c)(a®+b?+c?—ab-bc - ca)
L+ +c3=3




6.

(

m?> —4)x -1 = m(3x + 1) & HZd= x7F Y=

29

(m?>-3m-4)x-1-m=09 g7t gloen=z
m>—3m—-4=00°]21 -m—-1%0
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x—y = 15 WEste 4 Oo] A &, yoll ot ax® +bxy+cy* -1 =
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(a+b+c)x>—(b+2c)x+c-1=0
xof tfst F5Aolmz
a+b+c=0,b+2c=0,¢c-1=0
ca=1,b=-2,c=1
“a+b+c=0
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f(x) = x> +ax+boll st f(x) -2+ x - 12 U0
OJA T f(x) + 2% x+ 1 2 tiro] WolHrk, o] w), a - 2p9] g

fx)-2=x-12 gojz| 22
f1)=2=0 .. 14+a+b-2=0
La+b=1---@

f(x)+2Ex+12 Uro] Hojr B2
fc1)+2=0 - 1-a+b+2=0
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Foll Ao (2-1) = 1& Fol% 2 WshA] genz

P=(2-1)2+1)(22 +1)(2* + 1)(28 + 1)(2%6 + 1)
=(22-1)(22+1)(2*+ 1)(28 + 1)(2'6 + 1)

=2 -1+ 1)(28+1)(21 + 1)

= (210 -1)(2"% +1)
=232 _1




12. E]'% E]—o]-ﬂ_,] 011].01-_4 7_.“/\1__()

(1+x+x*)2(1+x)

+ (1 +x+x2+x3)3
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P) (1 x+22)°(x+1) 9 QA A%

C(14 x4+ x2)29 A 1& FT o,
Ag=2
(14 x+ x2)2 9] A5 x & F8 o,
A= 1

i) (1+x+2° +°)° ] dAe] A%
x+x% 4 x% = Y2} 5},
(Y+1°2=7>+372+3Y +1
3Y = 3x +3x* + 347
AzpGe] A= 3, The

Folli= Axjato] gick.
i), i)l 2+1+3=6




13.

A7y o) Al W] Bol a, b, cofl HHokel (a+b-c)a-b+c) =
blb+20) + (c +a) e - a)7F HAT W, o] 4P L ol 421
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(a+b-c)la—b+c)=bb+2c)+ (c+a)(c—a)lA
{a+ —c}{a— —c}=b2+2bc+c’2—a2

a’ - (b-c)? = -a® +b%+ 2 + 2bc

2a% = 2b% + 2c2

= b2 4 2
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14. a+b+c=7a>+b>+c? =21, abc =84 W, a®b? + bc? + 2a?
o] 27

@ 26 @ 48 @84 @ 96 ® 112

~&B ~

(@a+b+c)? =a?+ b+ ¢+ 2(ab + bc + ca)

49 = 21 + 2(ab + bc + ca)

" ab+bc+ca=14

a’b® + b%c? + c?a® = (ab + bc + ca)? - 2abc(a+ b + )
= (14)2 -2(8 x 7)

=384




15. TH4 £ E (x-2) 2 ol 52 0(v), ol A% Reletn @
o, ohe % £(x) 8 3x— 22 e gl wlo] £} Ay

@ Q(x), R @ 3Q(x), R ® Q(x), 3R
@) 1000, R ® 0(x). %R

_ (3x—2)%Q(x) R

olmg Fahs F7} hulAE
%1 2000 YHA: R




